Warm Ups:
Day 2:
1. Aladderleans against a building. The foot of the ladder is 6 feet from the building. The ladder
reaches a height of 14 feet on the r::a_mm
A. Find the length of the ladder J.. $\ U ﬂ\ml O
B. To the nearest degree, what angle does the ladder make with the ground? mﬁ mrs M\
2. Findxandy
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3. From the top of a barn 25 feet tall, you sec a cat on the ground. The angle of depression of
the cat is 40°. How many feet, to the nearest foot, must the cat walk to reach En barn?
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Find the other five trigonometric ratios.
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Day 4: Quiz Review
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. Atriangle has an acute angle such that sinf =
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Find the side labeled x
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. Solve the triangle. -
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A 30 foot flagpole casts a shadow of 135 feet long. What is the angle of elevation? \ =5 fn\*lw
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. The angle of depression from the top of a 180 m cliff to a log cahin is 422, How far is the cabin from

the foot of the cliff? g \ A

John wants to measure the height of a tree. He walks exactly 100 feet from the base of the tree and
looks up. The angle from the ground to the top of the tree is 332. This particular tree grows atan
angle of 832 with respect to the ground rather than vertically (902). How tall is the tree?

Day 5:
1.
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. Abuilding is of unknown height At a distance of 100 feet away from the building, an observer
notices that the angle of elevation to the top of the building is 412 and that the angle of elevation t

a poster on the side of the building is 212 How far is the poster from the roof of the building? \Jm
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. Triangle ABChas £A=32 , £B=81.8, and side a = 42.9 inches. What is the measure of side ¢?
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Day 7:

Find each measirement indicated. Ronnd your answers to the nearest tenth.
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sSofve each teiangle. Rouwnd your answers to the ne
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1. Find the six trigonometric ratios given that sin ¢ = = a.iwulx.. —_—
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2. Ifa=20,b=33.3, and c = 24, find the biggestangle \\u P (4] /
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of elevation to the top O:Sm building is 412, How far is the observerlfrom 9@ base of the vE_n__:w&
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4. Given tria w_m ABC with sides: a=8, b=3c= -9, solve the :.E:r_ —

(7=98.6° A =(f,2° B =/91f°

m B: observer is near ariver and Em:GMS nn::._mmr‘ the distance across :S river. He measures the
/\\\nmmru between his observations of two points on the shore, one on his side and one on the other
side, to be 282 The distance between him and the point on his side of the river can be measured
and is 300 feet. The angle formed by him, the point on his side of the river, and the point directly
on the opposite side of the river is 1282, What is the distance across the river?
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